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x1 x1 X2 x1 x1 X2 x1
6.463 455.904 19.361 830.691 13.191 5.129 9.429
5.900 301.108 17.070 509.416 0.000 4.801 8.343
5.457 163.791 23.923 658.893 100.000 4.760 8.088
6.176 354.071 18.622 660.337 61.651 4.897 8.827
5.769 287.583 14.763 696.833 0.000 4.677 8.510
6.052 337.470 23.988 546.466 20.077 5.003 8.458
5.760 249.164 20.624 553.235 48.106 4.719 8.302
6.117 373.410 14.749 707.813 12.976 4.925 8.943
5.733 197.254 18.576 519.106 25.817 4.708 8.332
5.806 243.544 19.657 737.646 100.000 4.812 8.578

42,416 4,945 9,101 158,670 374,534

30,269 3,617 6,311 91,045 173,099

20,710 3,148 7,609 59,981 125,801

36,224 4,132 7,622 97,983 262,873

27,442 3,333 7,939 64,370 204,075

33,548 4,438 6,633 130,033 194,430

27,248 3,516 6,692 62,704 165,495

34,951 3,966 8,034 114,833 284,389

26,665 2,969 6,395 65,296 171,059

28,241 3,397 8,293 71,167 216,688




381.8 2,771.5 2,457 177.4 164 141,832 153,331
96.0 681.9 404 48.0 49 20,774 19,096
29.5 176.4 84 14.8 17 4,832 4,956

228.1 1,664.7 1,094 109.0 106 62,024 55,023
81.4 613.7 228 40.4 32 15,220 14,078

161.4 847.1 742 79.0 86 41,089 33,681
54.5 336.5 204 26.4 28 10,323 12,378

236.2 1,944.6 1,200 115.6 111 70,450 82,312
61.6 519.5 208 30.6 26 10,961 10,989
39.5 274.2 144 17.8 20 8,842 7,853




